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I
Tlme Allowed: 3W Marks: 63 (1%
Note:- Three are PHREE sectlons In thns pamle SecnonA

Band C. A o%
Attempt Seoﬂoooe l,én ].ﬂae— same paper and return 1t to

the super toodent" *ﬁ"Fhm the given time.
A\l }\JJ \marks will be awarded for Cutting, Erasing or

Overwntmg, Marks of Identification will lead to UM case,
Maobile Phone etc are not allowed in the examination hall
Time Allowed: 15 minutes Section-A  Marks: 12
Ol:-  Write the correct option i.e. A, B, C or D n the empty
box provided oppesite to each part.
(1) Which one the measured by using a mlelometer’

()Current (b) Force (c) Length (d) Mass
ol

(2) A truck accelerates uni om

20ms™ in 5 sec. W @Qﬁ ot of truck”
a) 2ms s (d) 2.9ms™ -
(3) The ramqwge of velocity 18 called ..... D@
(a) Acceleration (b) Displacement (c) Speed (d) Distance
(4)  The unit of weightis ............ @

(a)Newton  (b) Kilogram () Meter ~(d) ms™

/

(5) A 100N force acts along the X-axis. Its y-
COMPONENL 1S . .vvvvvvvvs @
()ON (0)SO0N  (c)I100N  (d)25N
()  The value of “g" at the centre of the earth is

) Maiimum (b) —¢ () =g (d) Zero @m

, 2 4
(7)  Atmospheric  pressute @@@Rﬁ@ﬂ(@ 15

aPProgggl\\e&%e%/NJ @@ ﬂ

Barometer 15 used to 1111111 RS @
(a ) Density (b) Vapor Pressure
~ (c)Normal Pressure  (d) Atomospheric Pressure
(9)  The major source of energy on'earth s ........ |A
(a) Rediation from sun (b) Fossil fuels
(¢) Forest (d) Hydioelectricity
(10) The refation between co efficient of linear and
. volume expansions ............ B]
@y=la b= ()y=ta (@7y=2
(11) - The rate of doing work is defined as ......... @
(a) Energy  {b)Force (c)Power  (d) Momeptym
(12) Which Ol]llS not a base quonnty1 A ”’ 1‘@ ©m
- o (a)Length  (b)M sss 1 (€ Ie @H@
Note:- Tlmeﬁllowqyﬂ”' on s~ TNy |
Hour an Mi{olnihese “
\WW \@WW—B Marks: 2
QL+ Answer any Bight parts. Each part carties FOUR Marks. :(
. How much water in units of ltre can fill a water . ¢

- dank of 1m’ capacity? Explain
Can a body at rest be regarded in a state of mot 1on‘7

Give example. ,
3. By giving example prove that rest and motion are

relative terms.
4, Differentiate between mass and weight.

"
--h_“---ﬂ_-----------“-- i

. Whydoesa hehcopter has a second rotor on its

'.'l

| |

tail?

0. How you determine the centre of grawty of | b

| irregular shape body?

I Whyit s not easy to whiri a hammer by a longe
chain? 6m

8. Moon isattracted by the e@mﬂa not fall
on earth?

9. Whatig the l\,\] ple of hydraulic press?

YWater used as coolant in radiators of auto
mobile engines?
“11.« Give three ways in which msulagng materials can
) be used t8 reduce heat losses from’a house.
Section-C  Marks: 21+
Note:- Attempt any Three uestlons All questions car

equal mastks.
QUL (a)  Distinguish between base and derived physical

quantities. d 4
(b)  Brakes are applled to a train traveling at 72

kb after passing over 200m its velocity 1s dreduced to

36kms™ at the same rate of retardation, how much further will
it go before it is brought to rest, 4

QIV: (a)  Define mgmentum. Explain the law of
conservation of momentum, ©©m

(b) - Aforce of IOON @ lcula_rly at a
distance of 0.50m to tun g [ of a bus. Fmd the
forque acting on .\"'

QV: (a)  Differeniate betvieen centripetal force and
centrifugal fofce. ]

(b)  Aball of weight 100N is smovidg
frictionless surface wlth awefone%ﬂo} J Compute its
kinetic energy. 1\ (Y '&' Vi ' 3

QVI: ﬂ(‘a&)p\ Etate and explain Archimedes principle. 4
(b)  0.5kg of copper needs 19507 of heat to raise its.
temperature through 10°C . Calculate the heat capacity of
simple. (A 1 3




